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Que. :1. This question contains 30 very short answer type sub-questions.

Answer each question in maximum 15 to 20 words. All questions
are compulsory. Each question carries 03 (three) marks.

W (1.1) Feeft oeg % gemwm aun R w1 3R 87
What is the difference between the mass and weight of
an object?

R T W 1 (1.2) W wE % foe e arrgfty w7 9 o = A 3y
T =t ¥ fore oft @ RY

What is the audible frequency range for human ear? Is
it same‘f{)r children under the age of five years?
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% : (1.3) g g (AT wigar) # frm qitaet =1 3w e smar 27

Which phenomenon is used in optical fibre?

T : (1.4) A0S BRg  fore auismd Y@att it Soft % am fafau

Write the name of the series of spectral lines for atomic
hydrogen.

3H : (1.5) T=ifeea siiads Rl & agmt av=l st fafag)

NH;, NH; 3R HCOO"

Write the conjugated acids for the following Bronsted
bases :

NH;, NH, and HCOO"

¥ : (1.6) wgﬁmaqﬁﬁﬁww%?

What is modern periodic law?

W : (1.7) T S R ¥ 9w wew T 37

What are the two main components of a typical virus?

T : (1.8) Siagsd Fo- A 9 R GHIA B2
What do you mean by plasmolysis?

W : (1.9) iRk fagra e grn wiamfea fwan i en?
Who had formulated the cell theory?

¥ : (1.10) MS Word % Siagiz # $eie 38w &7
How to add footnote in a MS Word document? /

-
— ]

-
-

T : (1.11) IRie W, weieh W d R fm g

"How is assembly language different from machine
language? : '
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T : (1.12) OMR a1 8T ¥7 T661 I 741 Ream wmam 27
What is OMR? Why is it used?

¥ 1 (1.13) T T B Rht T1564 T 1 W, TF GHAGR Bl 15% HT J6EH
2ran 81 FE H1 54 eI T HINT|

By selling a chair for Y1564, a shopkeeper suffers a loss
of 15%. Find the cost price of the chair.

T ¢ (1.14) Rl TSl Y mite 25 3iv Tge 24%,&141&:31@@@&;

For any data, Median is 25 and Mode is 24, then find
the Mean.

o : (1.15) 3R @@ 2, x, x, 8 GHIIUE H &, A x Wi He |

If the numbers 2, x, x, 8 are in proportion, then find X.

W : {1.16) Rl i wsmre W % W Tl

Write the names of any three communicable diseases.

W : (1.17) TG AT H I HA-R G 7
What are the parts of Ashtanga Yoga?

T : (1.18) Rt s w1 Y6 2N T R

What is the main aim of immunization programme?

TH : (1.19) MR TET WEAPR R T I 1 R?
What is the purpose of Shanti Swarup Bhatnagar Award?

T : (1.20) N SHEYW T Rrg T (o 3o o o) HT IS H §?

What is the objective of Defence Research and
-, Development Organisation?

-

w : (1.21) Veiiiesm = 37
What is robotics?
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: (1.30) SIoHSe 991 2?

: (1.22) TISiNE IreA | Rewest I9 fopar ST 87

What is used for producing Biodiesel?

: (1.23) < sanr e I B 27

When do spring tides occur?

: (1.24) TREDA’ %1 Ta&qa 7 =11 87

What is the full form of TREDA™?

: (1.25) WRa # vaiawo g ifufam s @y e mne

When was the Envirlonmental Protection Act
implemented in India?

: (1.26) WCED 7 q0l &9 &41 87

What is the full form of WCED?

: (1.27) Ry (garar) J 119 = aHea &7

What do you understand by Eutrophication?

: (1.28) @i =t wfonfya SHifs)

Define mineral.

: (1.29) THME{S 9eR 1 27

What is chemical weathering?

What is hydrosphere? ' T
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5 ¥ 6 qRAaT arftl ety sfard 81 W& Tv9 05 (di=) 3 T

(5%20=100)

. This question contains 20 short answer type sub-questions.

Answer each question ideally in 50 words/S to 6 lines. All
questions are compulsory. Each question carries 05 (five)

marks.

(2‘; 1)

1 (2.2)

: (2.3)
: t2.4]
: (2.5)

: (2.6)

WS ht HAGURIN GHATZA|

- Explain the concept of Inertia.

R SRS 3 SET <6 SR AT F (SRR f wRardt =
JUH )

Describe the cartesian sign convention used in ray optics.

w3 e w1 anes Fraw T
Explain the octet rule of Kossel and Lewis.

IS (Aqua-regia) TN Bdl 87 Tk v feifaw)
What is Aqua-regia? Write its uses.

dipy #fy | feorelt Hifsm
Write a note on Pituitary gland.

aﬁﬁmaﬁmmmm

. Write a note on cell qycle.

(2.7) ¥m WA w0 A R?

What is Cache Memory?

nﬁ : i}@kﬁ-m ﬁt%—w%mﬁg@ FR W7

Wha.\t is the main difference between E-Government and
E-Governance?
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ST : (2.9) i SiE aeh wEd 9 ven w BRT S 8, 10 3 12, ¥ e

e g

Find the largest three digit number, which will be
completely divisible by number 8, 10 and 12.

Y : (2.10) e st & wwat wrey it ot Hifvw ;

Calculate the arithmetic mean of the following data :

qrHTiE® Heigl )

Weekly wages R) 11-13(13-15|15-17|17-19|19-21 (21-23 | 23-25
[ g

Number of Labour 3 4 5 6 5 4 3

TH : (2.11) T 3y Bem & 9& 3w w&w 9 fafex)

Write in brief, the main objectives of National Ayush
Mission. htips://www.pygonline.com

e (2.12) Gud Tufepear W afdm Runht fefaw)
Write a short note on Panchakarma Chikitsa.

T : (2.13) Hhm gfgmar Fr 87 47 F 9fgEen T w87

What is Artificial Intelligence? How does a machine
acquires Artificial Intelligence?

T : (2.14) fomn g siafa wsscﬁ:gma%éawﬁ?

What are the main objectives of Vikram Sarabhai Space
Centre (VSSC)?

T : (2.15) T S = ' aﬂ%m#%?

What is aquatic biomass? What are its advantages? = _

UM : (2.16):1\—a1tﬁzrm’iﬁﬁarvﬁ%aaqaﬁ§?

/18

How is electricity generated from gcothen’nal energy?
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00
El%. |
W : (2.17) g il % ger 3w fafed

Write down about the main uses of green belts.

W : (2.18) Tatarofia e % FRbRd () W el S

Comment on Environmental Education Programmes.

WA : (2.19) yeft < i arem-srem sl W et ford)
Write a note on the three different layers of the Earth.

W : (2.20) R W O feowft frd

Write a note on granite.

T : 3.3 T F 10 O 3607 39-TW §) TS TH ¥ IW g A v {0
200 7= 8| wht W e § @S T 11 (TWg) 3 H 81 - (11x10=110)

Que. : 3. This question contains 10 long answer type sub-questions.
Answer each question ideally in 200 words. All questions are
compulsory. Each question carries 11 {eleven) marks.

9w : (3.1) ﬁgam%mmum%aﬁaﬁm FART it =Re il

Discuss the practical applications of heating effect of
electric current.

T ; (3.2) GG A Y T A &7 WG FIX A A FR 1. AL @
27 gugmEd

What do you understand by saponification? Why does
soap not work in hard water? Explain.

S+ (3.3) T & st 3 e ) Bt v B

o .- Describe the process of digestion of food in human.

W (3.4) ﬁaﬁawﬁm%?wmmﬁmﬁml

What is a web page? List the features of a good website.
~
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T : (3.5) A, B3R C Rt uw wem i 9 AR @ A, R w5
WE N 39W, B, 5@ A 29X T C, 4 TIE ¥ 3 IR Ag wehal
21 Fr= et 6 s I A
(ar) ST A WIS q TET W
(%) 9 ¥ F7 q A& e
A, B and C try to hit a target. A can hit the target 3

times in 5 shots, B, 2 times in 5 shots and C, 3 times in
4 shots. Find the probability of the following events :

(a) Any two of them hit
(b) At least two of them hit

W : (3.6) TEA oW WA i HEwl e wadl HeAWRhRI A 6l
R 4 gvl =t

Describe in detail, the important health related welfare
schemes of Madhya Pradesh Government.

W : (3.7) R Fake AFHIH WieT w1 fawa foawo it

Give a detailed account of the Indian Space Research
Organisation.

W : (3.8) il ATSE 1 B 87 R AETIHAT I 87

What is energy audit? Why is it needed?

T : (3.9) wEievii wE ST (EIA) W U feg fafled

Write an essay on Environmental Impact Assessment
(EIA).

W : (3.10) 3Tuery Qi Ht aur sifoe sTaE % SR W fag feweh

ferd

Define weathering and write a detailed note on the
causes of physical weathering.

-

* % Kk
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